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H.� -=PD� DMF.HDE�� 23=-3� M.� 0BR.K=HD=� H=� =� M.JB/G=H3�� �=-=Y2D� 0=:.� 63F/3CHD-=�
W./.2-=/D0-D2D�H.�2.K=HF./D-=��6=0H363Y2D-=��0BH3JHDLD-=��ID0KE�0D��P=�H.�J0E2.�
L=H.�CD�-/ECJ.K3�F.� H.I=/DI� 0DKD� D�0/=F0-J.� D�F.�F3JB/GDI�M.63PH.-3-3�

�3FDHD-=�0K=F��0J3C3RF=HD=-3�0.�C=KEM.HD�0�F=YH30--.�H.�DMF.-=K0-J.-.�T�J��
��� � :H.-3J` ��TS /423JD` ��T�K�� �.02.K=J` ��23D-3�0BMF.J.-�D� H.K.:.-�H.Y,DMJ=0-HD-=�
63� 3H3J.� J/=I=� 63/=FDLD� DKD� CDCKD3-=2D� , �T�3M.Y2.� 3 :�MH.I=HD-D� 0BJ/=I=HHD�
/3I.HD` ��T�HDJ=/0.KH.�CDCKD3-=2.` ��T�H.HD=+�D�F/T�2.2-3�D�M.:K.JDE-.�� J2K7P=HD�
J� -EW�� �42� 0=� H.-B2J.I=� D� H.� 2/D-DP=023-3� 3-/DL.HD=� H.� -3MD� -D6� T0K4:DH02D�
/3I.HD` � c	3R.H� �H:=K3Jd� D� H.� .J-3/3J.-.� :K=FH.� -3P2.� M.� JD032.-.� D� I.03J.-.�
KD-=/.-4/.�� ��-.MD�P.0-�2.2-3�D�J�P.0--.��M.0E:.U.�CBK:./023-3�2HD:3DMF.J.H=�0K=F�
J3YHD-=��IH3:3�I.Y0-3/02D�0.�.H.KDMD/.HD�D�DMF.-=K02D-=�6/.2-D2D�D�0-/.-=:DD��D�
.J-3/3JD-=�6/3DMJ=F=HDE�� �-C=KEM.H�=�/3FHDE-�6/DI=/� J�63FKD0-HD2.��=/3-D2.-.��
Q.H-.0-D2.-.�� 2/DIDH.K=-3�� D0-3/DP=02.-.� 6/3M.�

�6=LD.KH3�JHDI.HD=�M.0K4R.J.� G=0-.-.� :K.J.�T�3-.KD-./HD-=�TM.I=0-D-=KD` �
H.�I.03J.-.� 2HD:.�, �R.H/3J=�D�DMF.-=K02D�04C=2-D` ���42�.J-3/B-�IH3:3�3C0-3YH3�=�
.H.KDMD/.K�M./.RF.H=-3�H.�L=HM4/.-.�J�3CK.0--.�H.�2HD:3DMF.J.H=-3��DH0-D-4LDD-=��
23D-3� E� 30BU=0-JEJ.-�� D� H.PDH.�� 63� 23Y-3� 0=� DMJB/GJ.�� �P=/-.HD� 0.� FB/R.JH3,�
6./-DYHD-=� Q3/ID� H.� 46/.JK=HD=�� 6/D� 23D-3� 36/=F=KEUD� 0.� H=� 63-/=CH30-D-=��
-B/0=H=-3�D�6=P.KC.-.��.�DF=3K3:DP=02.-.�L=K=0B3C/.MH30-���.�Q3H.�H.�-=MD�.H.KDMD�
0.�H.6/.J=HD�DMJ3FD-=��M.U3�6/=M�23I4HD0-DP=023,-3-.KD-./HDE�/=RDI�P=-=H=-3�=�
I3R=K3�F.�CBF=�2J.KDQDLD/.H3�2.-3� 6/=0-B6K=HD=�D�M.U3� I.03J3,63KD-DP=02.-.�
2HDRHDH.� C=� 3QDLD.KDMD/.H.:.� TI.03J30-` �� �K=FJ.U.-.� :K.J.� T�.03J.-.� 2HD:.�
J� 6=/D3F.�H.� 6/=W3F�0K=F� �^^'� :��F3�FH=0` �0BU3�-/ECJ.�F.�CBF=� DM-B2H.-.��M.U3-3�
J� H=E� ��� 	=HC.0.-� =� T0BC/.K` � D� 0D0-=I.-DMD/.K� J0DP23�� 23=-3� =� 6D0.K� F30=:.� M.�
M./.RF.H=-3�DKD� 63EJ.-.�H.� 6B/JD-=�P.0-HD� DMF.-=K0-J.��M.�DMF.-=K02.�TC4I` �0K=F�
3-6.F.H=�H.�T-.C4-3�JB/W4�I.03J.-.�2HD:.` ��T/=.2-DJD/.H=-3�H.�H30-.K:DE-.�63�-.MD�
2HD:.` �� M.�T/3M3J.-.` � DHJ.MDE�� M.� 63EJ.-.� H.� I.QD3-02.-.� TI=FDYH.�KD-=/.-4/.` ��
M.� 6./.K=KH3-3�2HD:3DMF.J.H=� H.� 2HD:D� D� J=0-HDLD� D� M.�30-.H.K3-3�� H.� 23=-3�0I=�
0JDF=-=KD� D� J� 23=-3� 4P.0-J.I=� J0DP2D�� 23D-3� 63� HE2.2BJ� H.PDH� 0I=� 0JB/M.HD� 0�
2HD:.-.�D� 2HD:3DMF.J.H=-3� J� 	BK:./DE�0K=F� �^A^� :�

@=� 30-.JE� C=M� 23I=H-./� M.2K7PD-=KHD-=� F4ID� H.� �KC=/-� 	=HC.0.-� F.KD�
I.03J.-.�2HD:.�U=�DMP=MH=�D�2.2JD�-/.H0Q3/I.LDD�-B/6D�D�U=�6/=-B/6D�M.H.6/=F��
�.KD� U=�0=� 6/=JB/H=� J� 6/DF.-B2� D� Q4H2LDE� H.� I.0I=FDD-=� DKD� U=�M.6.MD�0J3=-3�
IE0-3�-.23J.�� 2.2J3-3� H.� IH3:3�3-�H.0�CD� HD� 0=� D02.K3�� .� ID0KE� 0D�� P=� D� H.�0.IDE�
H=:3�� �3J.� J/=I=-3�U=� 632.R=�

�.2/.E� D02.I� 3U=� J=FH.R�F.� 3-C=K=R.�� P=�2HD:.-.�T	.H2H3-D� D� I=P-D� I=RF4�
23/DLD-=` � =� =FH3� DM2K7PD-=KH3� 0=/D3MH3� D� 0-3YH30-H3� DM0K=FJ.H=� H.� I.03J.-.�
2HD:.� D� I.03J3-3� 2HD:3DMF.J.H=�� �FH3� P=-DJ3�� 23=-3� CD� CDK3��63K=MH3� 2.2-3� M.�
DM24G=HD-=�3-�Q=H3I=H.�2HD:.�, �DM0K=F3J.-=KD��DMF.-=KD��CDCKD3-=2./D��0-4F=H-D�
3-� /.MKDPHD� W4I.HD-./HD� 06=LD.KH30-D�� -.2.� D� M.� H=DM24G=HD-=�� M.� -=MD�� 23D-3�
P/=M�H=E� I3:.-�F.�0=�F3230H.-�F3� I.Y0-3/02DE� /.M2.M�H.�=FDH�=/4FD/.H�63MH.J.P�H.�
0BFCD-=�H.� P4RFD� D�CBK:./02D�.J-3/D�� 2HD:D� D� 2HD:3DMF.-=KD�

���������� 0������� ���	����� ��8�����8���+� 	�������� :� #������ 	��&�� � �
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	BK:./DE�� �3QDE� ���*�� 	4K��T�./D:/.F023�G30=+� �?#��CK�� O��=-�� ON�

�=K�� A&',"?,*$��^&�,�','?%J�� "?'�� !.20�ct*#^,?d�A&',"?,*$�
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�.MD� I.:D0-B/02.� 6/3:/.I.� =� H.03P=H.� 2BI� DH-=:/.-DJH.� 63F:3-3J2.� H.�
06=LD.KD0-D� J� 30H3JHD-=� 24K-4/HD� DH0-D-4LDD� , � CDCKD3-=2D�� I4M=D�� ./WDJD�� ��
6/3L=0.�H.�3C4P=HD=�0=�M.FBKC3P.J.�MH.HD=-3�M.�0BJ/=I=HHD-=�24K-4/H3,DHQ3/I.\
LD3HHD� 6/3L=0D��DM:/.RF.-�0=�6/.2-DP=02D�4I=HDE�M.�2.P=0-J=H3�DHQ3/I.LD3HH3�
3C0K4RJ.H=�0B0�0BJ/=I=HHD�-=WH3K3:DD��40J3EJ.-�0=� I./2=-DH:3JD�D�46/.JK=H02D�
4I=HDE�M.� /.C3-.�H.�24K-4/HDE� 6.M./�D�M.�Q3/ID/.H=�H.�H.LD3H.KH.�D� /=:D3H.KH.�
24K-4/H.� 63KD-D2.�

�/D=I� M.� 4P=CH.-.� ?'��%?'�?� :�� H.� 0-4F=H-D,I.:D0-/D� , �FB/R.JH.� 63/BP2.�
0� :3FDGH.� -.20.� 3-� �A#� KJ�� M.�M.JB/GDKD� C.2.K.JB/02.-.� 0-=6=H� H.� 06=LD.KH30-�
T	DCKD3-=PH3,DHQ3/I.LD3HHD� H.42D+�� 2.2-3� D�C.2.K.J/D� D� I.:D0-/D��M.JB/GDKD�
F/4:D� 06=LD.KH30-D�

�324I=H-D� U=�0=� 6/D=I.-�JBJ�!DK303Q02D� Q.24K-=-�H.� �3QDY02DE�4HDJ=/\
0D-=-�3-� �*�'$�?'OO� :��F3�?^�'&�?'��� :�� , �M.K.�$*��=-�� *�� S RH3�2/DK3�

�.-.-.�M.�DM6D-.�c0BC=0=FJ.H=-3d�U=�0=�MH.=� 6/D� 63F.J.H=� H.�F324I=H-D-=�
�K.0.LDE-.�0=�DMJB/GJ.� JBM�30H3J.� H.�
a� 0/=F=H� 406=W� 3-� 0=I=0-/D.KHD-=� D� FB/R.JHD-=� DM6D-D� 3-� FD6K3I.-.� M.�

M.JB/G=H.-.�0-=6=H� H.� JD0G=-3�3C/.M3J.HD=�cH=�63,HD0B2�3-�F3CB/�"d<
a� 3L=H2.�3-�0BC=0=FJ.H=-3�63�6/DK3R=H� 23H06=2-�
!3/I.�H.�3C4P=HD=�� M.F3PH.�
� /32B-�H.�3C4P=HD=�=�0B3-J=-H3�
a� -/D�0=I=0-B/.�cM.�H=06=LD.KD0-D� J�3CK.0--.�H.� 	 � �d<
a� FJ.�0=I=0-B/.�cM.�M.JB/GDKD�06=LD.KH30-� 	��d�
�.JB/GDKD-=�I.:D0-B/02.-.�6/3:/.I.�63K4P.J.-�6/3Q=0D3H.KHD�23I6=-=H-\

H30-D�M.�
a� /.C3-.� J�CDCKD3-=2D�� DHQ3/I.LD3HHD� L=H-/3J=�� I4M=D�� PD-.KDU.� D�F/4:D�

H.4PHD� D� 24K-4/HD� DH0-D-4LDD<
a� /B23J3F0-J3� D� 46/.JK=HD=� H.� 24K-4/H3,DHQ3/I.LD3HHD� DH0-D-4LDD� H.�

H.LD3H.KH3� D� /=:D3H.KH3� HDJ3<
a� 233/FDHD/.H=� H.� DHQ3/I.LD3HHD-=� J/BM2D� D� I/=RD� I=RF4� 24K-4/HD-=�

DH0-D-4-D� D�MJ=H.� H.�H.LD3H.KH3� D� /=:D3H.KH3� /.JHDU=<
a� DHQ3/I.LD3HH3�30D:4/EJ.H=�H.�H.42.-.��3C/.M3J.HD=-3�D� 24K-4/.-.<
a� DHQ3/I.LD3HH3�3C0K4RJ.H=�H.�CDMH=0.<
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a� =206=/-HD�.H.KDMD�D�3L=H2D� H.�6/3=2-D�� :./.H-D/.UD�F30-B6�F3�DHQ3/I.\
LD3HHD-=� /=04/0D� J�0-/.H.-.�D� J� P4RCDH.�D� DHQ3/I.LD3H=H�3CI=H� H.� 	BK:./DE�0�
F/4:D�FB/R.JD�

�� 4P=CHDE� 6K.H� H.� I.:D0-B/02.-.� 6/3:/.I.� T	DCKD3-=PH3,DHQ3/I.LD3HHD�
F=YH30-D� D� 24K-4/H.� 63KD-D2.+�=�6/DK3R=H� I3F4KHDE-�6/DHLD6�

a� 63F:3-JD-=KHDE-�I3F4K�c?&'�P�d�=�M.FBKRD-=K=H�M.�C.2.K.J/D-=�D� I.:D0-/D\
-=��M.JB/GDKD�F/4:3�� H=CDCKD3-=PH3,DHQ3/I.LD3HH3�3C/.M3J.HD=�� �3Y�30D:4/EJ.�
C.M3J.� 63F:3-3J2.� 63� 	��� D� 0K=F�M.JB/GJ.H=-3� I4�0-4F=H-D-=�406=GH3� I3:.-�F.�
0=� J2K7P.-�M.=FH3�0B0�M.JB/GDKD-=� 	�� � J�3C4P=HD=-3�H.�0K=FJ.UD-=�HDJ.�

a� I3F4KB-�T�.FBKRD-=KHD� 24/03J=+� c*�#� P�d� 3CWJ.U.� EF/3� 3-� 30H3JHD� FD0\
LD6KDHD�� 23D-3�M.FBKC3P.J.-�6/3Q=0D3H.KHD-=� 23I6=-=H-H30-D� H.�0-4F=H-D-=�M.�
0BJ/=I=HHD-=�L=KD�D�M.F.PD�H.�H.LD3H.KH.-.�DHQ3/I.LD3HH.�D�24K-4/H.�63KD-D2.�
D� H.� DHQ3/I.LD3HH3-3�3C0K4RJ.H=<

a� I3F4KB-�T�MCD/.=ID� 24/03J=+�F.J.� JBMI3RH30-�M.�M.FBKC3P.J.H=� H.� 06=\
LD.KDM.LDE-.� J�0K=FHD-=� H.6/.JK=HDE����+	��� ����-�������� ��-��� <�"+��+���� 	+�A
�+���� ������+������	+��+������-��� � �C4P.J.HDE-�DMCD/.�3-�#�FD0LD6KDHD�� 2.-3�
0=�0B3C/.MEJ.�0� DMD02J.H=-3�F.�H.CD/.� IDHDI4I� *'� 2/=FD-.�M.�0=I=0-B/�

�=2LD3HHD-=�24/03J=�D� 6/.2-DP=02D-=�0=IDH./D�H.�M.FBKRD-=KHD-=�D� DMCD\
/.=ID� 24/03J=� 0=� /B23J3FE-�3-� 6/=63F.J.-=KD� J� ���� 3-� J3F=UD� .FIDHD0-/.-3/D��
CDCKD3-=PHD�06=LD.KD0-D�D�46/.JK=HLD�J�3CK.0--.�H.�DHQ3/I.LD3HHD-=�F=YH30-D�

�.JB/GJ.U�=-.6� J�3C4P=HD=-3�=�63F:3-3J2.�H.� I.:D0-B/02.�-=M.�
�J.KDQD2.LD3HH.-.�W./.2-=/D0-D2.�H.�M.JB/GDKD-=�I.:D0-B/02.-.�6/3:/.I.�

=� I.:D0-B/� 63�CDCKD3-=PH3,DHQ3/I.LD3HHD� H.42D� D� 24K-4/H.� 63KD-D2.�
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1	&C31	� 1�� ��:	1	� �A�71��	

�E� 630J=-D� D�3-F.F=�L=KDE� 0D�0BMH.-=K=H�RDJ3-�H.�CBK:./02D-=�CDCKD3-=2D� D�
H.�CDCKD3-=PH3-3�3C/.M3J.HD=�� �=0K4P.YH3�0� :3FDHD-=�-E�0=�6/=JB/H.�J�H=:K.0=H��
H3� J0=6/DMH.-� ./WD-=2-�� 630-.JDK� -=I=KD-=� H.� F3C/.-.� CDCKD3-=PH.� 6/.2-D2.� D�
-=3/=-DPH.�ID0BK�

	3R.H.��/3EH3J.�=�/3F=H.�6/=M� �^�*� :���.JB/GJ.�6/.J3�J��3QDY02DE�4HDJ=/0D\
-=-�6/=M� �^*&�:�� �=.KDM.LDE-.�Y�J�CDCKD3-=PH.-.�6/3Q=0DE�M.63PJ.�J��HDJ=/0D-=-02.�
CDCKD3-=2.�c�^*&,�^*Ad���6=LD.KDMD/.�T	DCKD3-=23MH.HD=` �J� �=I02.-�.�FB/R.JH.�
CDCKD3-=2.�J� 	=/KDH�c�^*A,�^*^d���K=F�-3J.� /.C3-D�2.-3�4/=FHD2�D�63I3UHD2,FD\
/=2-3/� J� �/.F02.-.�CDCKD3-=2.� cFH=0� �-3KDPH.�CDCKD3-=2.�� �^"�,�^"*d�� �/=FHD2�
D� 30H3J.-=K� =� H.� �6/.J3PH3,F324I=H-.LD3HH.-.� 0K4RC.� H.� 	BK:./023-3� /.FD3�
c�^"",�^"#d�� �� �.LD3H.KH.-.� CDCKD3-=2.� T�J�� 0J�� �D/DK� D� �=-3FDY+� =� 0-./GD�
4/=FHD2�� 63I3UHD2,FD/=2-3/� 63� H.4PH.-.� P.0-� c�^"#,�^##d�� /B23J3FD-=K� H.� 3-\
F=K� T�C/.C3-2.` � c3:� �^"$d�� /B23J3FD-=K� H.� �=H-/.KHDE� 2J.KDQD2.LD3H=H� 24/0�
M.�CDCKD3-=2./D-=�3-�H.4PHD-=�CDCKD3-=2D� J� �3QDE� c�^#?,�^#$d�� �-./GD� H.4P=H�
0B-/4FHD2�0-.J.�6/=M� �^#"� :�� �/=M�-=MD� :3FDHD� 	�� �/3EH3J.�H.-/46J.�C3:.-�6/.2-D\
P=02D�D�6/3Q=0D3H.K=H�36D-��J.RH.�6/=F630-.J2.�M.�406=GH.-.�Y�DM0K=F3J.-=K02.�
D� 6/=63F.J.-=K02.�F=YH30-�

	3R.H.� �/3EH3J.� 630-B6J.� J� �3QDY02DE� 4HDJ=/0D-=-� , � J� 2.-=F/.� T	DCKD3\
-=23MH.HD=� D� CDCKD3:/.QDE` �� 63� D02.H=� H.� 6/3Q�� �3F3/� 	3/3J�� �-H.P.K3�=� W3H3\
/4J.H� 6/=63F.J.-=K�� .� 630K=� /=F3J=H� 6/=63F.J.-=K� c�^#$d� D�0-./GD� 6/=63F.J.-=K�
c�^&',�^A#d���/3EH3J.�P=-=�0K=FHD-=�4HDJ=/0D-=-02D�24/03J=��T�=3/DE� D�6/.2-D2.�
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